OO0 ITAOO No. 6

60 5000
ooooo oo-

goooboooboobooboobooobon.

00 93 (0 5pt.) 00 410000,0000000 Cl0,1]0 sup000 |||l 0000. 00O
L'000 |- L0 Ifli:=J,|f(z)[de 0000. 0000,

(1) OO0 |- |1: Cr[0,1] = [0,00) 000 OO00ODO.

(2) 000 feCgl0,1]0000,000 ||Ifl1<|Ifle00000.

00 94 (0 5pt.) Cg[0,1]0000,000 {fulnen 000000,

nx ifo0<z<1/n
Ja(@)=<{ —nz+2 ifl/n<x<2/n
0 if 2/n <ax <1.

(1) 000 {fulnenD 00 sup00000000D000OOO.
(2) 000 {fulnewD 00 L'000000D0000OOO.

(3) sup0 000 L'O00D0D0D000ODODODOOOOO.

00 95 (0 5pt.) Cg[0,1]0000,000 {galeen000000.

0 if0<z<—(1/n)+1/2
gn(x) =<Snz+1—-(n/2) if —(1/n)+1/2<x<1/2
1 if1/2<z<1.

(1) m<nO000, |lgn —gdh=1/2m)—(1/2n)00000000.
(2) 000 {gn}nenD L'000000000OOO0DOOOD.

(3) {ga}nen0 L'000000000O0O0O0O0O0O0OOOOT,

obooobOoboooo,ob0o0b0oo0o0oooboobooooooa.

00 96 (5pt.) OO 570,0000000000O00OO0OOUCOOOU0OOOOOOO.OOOO
obooooobooooboboboooobooooo.ooobooboRrROOODO.

00 97 (5pt.) 00 580,00000000000000O00OU0OOOODOOUODOOO.O0OOO
oooooooooooooooobo0oooobo. 00000 ooD RrROOOOD.

00 98 (5pt.) 000000000000 R?0D0000O0O0O0O0.

00 99 (5pt.) XO0ODODOOO.00d: XxX—{0,1}0,2€X0000 d(z,2)=0,000
z,y€ X00O00Od(z,y)=1000.d0000000000000.

*website: http://www.ma.noda.tus.ac.jp/u/rto/m2a/m2a.html
f0D0D Cg[0,1]0 sup00000O0O0OO, L' 000DDDODDODO.



O00z€X,r>0000000 B(a,r)={yeX|dy,2)<r}000000000000.

00 100 ((1,2),(3,4):0 5pt.) 00900000 (X,d)0000.

(1) 00 r>1000,B(z,r)=X00000000.

(2) 00r<1000,B(z,r)={2}00000000.00000000000.

(3) 00000000000, 0000000000000000000%.

(4) 00000000000,0000000000000000000.

0000000000 (closure) 100000000,

00 6.1 (X,d)00000,ACcX00000000.0000 ADDO AO0D0DOOCDO.
A={reX| 000r>00000 B(x,r)NA#0D}.

00 101 (5pt.) (X,d)00000,ACX00000000.00000000O.

A={reX| 2000000000UDOO00 UNA#0}

00 102 (5pt.) (X,d)00000,0000 AcXO00000000. (1)ACA (2)A000
oooo.

00 103 (5pt.) (X,d)00000,Ac XO0O000000. 00 A0, A0000000000
0000000000,00000000FCXOACFOOOOO,AcFO0000000.

00 104 (5pt.) (X,d)00000,ACcXO00000000.0000DOOOO.

A=A+ A00000D0O.

00 105 (5pt.) (X,d)00000,A4BCcX00000000.00000000000 ((1)0
00 102000000000 (2)0000000).

(1) AcA (2)A=4. (3)AUB=AUB. 4)0=0. 5) ACB=ACD.

00 106 (5pt.) (X,d)00000,A,BCXO0D0D0D0D0O0O0O.000 AuUB=AuBO0O0OO
(00O (3)). 000000 ANBCANnBOOOOODO,00 ANB=AnBOOOO0OO0OOOOOO
0.0000000000000R2000000.

00 107 (5pt.) ROOOD,0000 ADDOADDOD. (1) A= {z} (zo €R). (2) A= (0,1).
(3) A=Q. (4) A=R\Q.

00 108 (5pt.) R20000,0000 AODDD A0OOO. (1) A= {(zo,9)} ((zo,v0) € R?).
(2) A=(0,1)x [0,1). (3) A=Q x Q.

00 109 (5pt.) RNOODO,0000 ADOD A0DOO. (1) A= {(z1,...,z5)} (21,...,2N) €
RY). (2) A=T]I;L;[0,1). (3) A=QY.

00 20000000000000000000.
00 110 (5pt.) 0000 (X1,d1), (X2,de) 0000,000000 (X3 xXo,d)000 30000

O0000.0000 A4, CcX,,ACX,0000,4 x4, =AxA,0000000000.
iDpoooDoDOoOoOoOoO0.




00000 (interior) 000D OO0DDOO.

00 6.2 (X,d)00000,ACcX00000000. 0000 ADDOD A°000D0DODOO.
A ={zxeX| 0O0r>000000 B(z,r)C A}.

00000000 A#000 A#000,0000000 A°=000000000000.

00 111 (5pt.) ROODDOO, A=QO000. A°=0000.

00 112 (5pt.) (X,d) 00000, ACcXO00000000O.0000OOOO.

A°:={zeX| 2z00000000UOO0O0O0O0UC A}

00 113 (5pt.) (X,d)00000,ACcX00000000.00000000. (1) 4°C A. (2)
A°0000000.

00 114 (5pt.) (X,d)00000,ACcXO000O000ODO. OO0 A°0,A00000 X0OOO
gooOoOoOoOoOoOoOoOoOOOO,00000OO0LOUCXOUcCAQOODOO,UCADOO
ooooo.

00 115 (5pt.) (X,d)00000,ACcXO0OUO0O0OO0O0O0UODO.00D0O0O0OODOO.
A0 XOUOOOOOO < A°=A.
oo ooobbouooooooog.
00 116 (5pt.) (X,d)00000,ACcXO00000000O.0000OOOO.
A= ((A0)), A= (A)"

00 117 (5pt.) (X,d)00000,A,BCc XO000O0OO0OOOO. 00000000000, ((1)
000 113000000000 (2)0000000)

(1) A° C A, (2) (A°)° =A°. (3) (ANB)°=A°NB°. (4) X°=X. (5) AC B= A°C B°.

00 118 (5pt.) (X,d)00000,ABCX00000000. 000 (ANB)°=A4°NB°0
000 (00 (3)). 000000 (AUB)°>A°UB°0000ODO,00 (AUB)°=A4°UB°00
000000000.0000000000000R200000.

00000000000000,0000,000000000. 0000 (exterior), 00 (boundary)
googooo.

00 6.3 (X,d)J0D000,ACXU0000000. 0000 AUDO extADDOODOODO.
ext A= X\ A

00 64 (X,d)00000,ACX00000000.0000 AODODQPADDODODOODODO.
DA = A\ A°,

000000000000000000.00D0000D:={(z,y)cR?|22+y2<1}000.

00 119 (5pt.) 0000 R?20000,000D0O000.DOOO,00,00,0000000.



00 120 (5pt.) D000 R20000,0000 A=D\{(1,0}0000. A00O,00,00,
ooooooo.

00 121 (5pt.) D000 R20000,0000 A=D\{(0,0}0000. A00O0,00,00,
ooooooo.

00 122 (5pt.) 0000 R20000,0000 A=DN(QxQ)0000. A000,00,0
0,0000000.

00 123 (5pt.) 0000 R20000,0000 A=R20000. A000,00,00,000
oooo.

00 6.5 (X,d)00O0O0O0O,AcXO0O0O0ooooo.
(1) 00 A00OO0OO,00 A°00000,00extA000OOO,O000A0000O0O0OOO.

(2) 0zeX0 ADDDODODODOOOD,z€cA\{z}000000000O.

(3) 00 A0D 0000000000, 020 AUDODOOUOODO.

00 124 (5pt.) (X,d)00000,ACXO0OO0O0O0OO0O0OO0.02zeXO000,0000000
gooono.

1) 20 ADDODOOOOO.

(1)
(2) 000 r>00000, B(z,r)N(A\{z}) #0.

(3) 000000000 UCX0000,UN(A\{z})#0.

(4) 00 {2n}nen0,0000 neNDOOD o, € A, v, #200 lim 2, =2 0000000
ooo.

00 125 (5pt.) (X,d)00000,ACX0O000000D0.02zeX0O0O00,0000000
goooo.

(1) 20 ADDDOOO0OO.

(2) € ADDDOD,00 »>000000, B(z,r)NA={z}.

00 126 (5pt.) ROODOO, A:={1/n|neN}0000. ADODDDODODOOOOODO.

00 127 (5pt.) ROOOO, A:={0}u{l/n|neN}0000. ADDODODODOOOOO.
00 128 (5pt.) ROODODO, A:=QO0000. ADDODODOOOODOOOO.

00 129 (5pt.) R2O0000O, A:={(z,y) eR? |22 +4* <1} 0000. ADDODOOOOOO
oooo.

00 130 (5pt.) R20000, A:={(z,tan(z)) e R? |0 < |2| < x/2} 0000. ADDOOODO
ooooooo.

00 131 (5pt.) ROODOO,A:=Z00O0O0. ADODODDOOOUOOOOOODOOOOOO.

00 132 (5pt.) RYOOOO, A:=2ZN ={(z1,...,2y) ERY | xy,...,oy €Z}0000. AD
000000000o0000000.

00 133 (5pt.) 0OO0OO (X,d)0000,000000 AODDOO. ADOODOOOOOODOO
goooooo.



